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Identify the true statement about the zener breakdown voltage.
(A) It decreases when current increases.
(B) It destroys the diode.
(C) It equals the current times the resistance.

(D) It is approximately constant.
Te O mézgﬁf}gg Beso® 2Jes @O® eSfpgdeas® axrf AOOINT £Q@'@O§)§& @M eHER

(A) BB0Lr BPBOZ D FBALMHIE

(B) 0@ td3030erd), Hotd &I

(C) & Brerdsn Bodr, 30T B H[PRITI
(D) e odex)3e aadoadz‘éojodo& BeDHP)BY

A tunnel diode is used in
(A) high power circuits
(B) circuits requiring negative resistance
(C) very fast switching circuits
(D) power supply rectifiers
£350° Byadeer® VR VTOSRENEITY T
(A) éaﬁoﬁ mdocszga‘d ﬁingsweﬁég
(B) ai)mééa’ BeerTrE e, Erieon ﬁmﬁséﬁrﬁég
(©) eriweh a@werbs THegE e vy

(D) mqu‘%s 2RO 6ga>’éoeﬁég

Which of the following metal is most commonly used for metallization in silicon
integrated circuits ?

(A) aluminium (B) copper

(C) gold (D) nickel
Be FYOT odom deemdn), dwTo® Fowrjednw® DRI Juege Yy
eVD03eNTTIT ?

(A) @mﬁmé{)oi)doe (B) Bomo®
©) r’i.tae&); (D) &Bess
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4.  Consider the following steps.

1. Etching ii.  Exposure to UV radiation

1. Stripping iv. Developing

Identify the correct photo-lithography sequence, after the wafer is coated with a photoresist
(A) i, iv, iii, 1 (B) ii, iv, i, iii
(C) v, ii, i, iii (D) iii, ii, iii, 1

DpedneSim’ Bnd mFTY Beedn® F0ICE  Beedoesmord  RpBTS
wbrbemN B FENT BosHYm, BOIRR Fab@ey MHTHIA.

i agorﬂe il. od.d. eodeldncrI aga’weﬁcﬁ
iii. ?;)a)orwe iv. BIOdor®

(A) i, 1v, 1, 1 (B) i, 1v, 1,1

(©) v, ii, 1, 1ii (D) iii, 1, dii, 1

5. The static resistance Ry, of a diode having I, = 30 mA and V[; =0.75 V is
Byodeer®s I, = 30 mA &3 V, =075V T TYLEIT® ders Ryod diaozg@

(A) 25Q (B) 40Q
(C) 0.04Q (D) 0.025Q

6. A MOSFET operating in saturation region produces the channel length modulation effect
that causes

(A) anincrease in the gate-source capacitance
(B) adecrease in the trans-conductance
(C) adecrease in the unity-gain cut-off frequency
(D) adecrease in the output resistance
ngafodeeiae BOoHTEY TooDERTESWE MOSFET & e5080°8  evgdadad,

e elecr® BRI, YBO0R Be FENT 0drox DO YLOLPMVIT ?
(A) 13ee-RBR0S FHOIWNS BT
(B) eRXC-BOBBERE TRALHIE
(C) 0heer-Tier® F-35° ZQ FRIHIW
(D) ReF-aDer® Bperdd FBHOIDHIE
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7.  JFET has a drawback of
(A) having low input impedance
(B) having high output impedance
(C) have high susceptibility to noise
(D) having small gain - bandwidth product
JFET &»p083T0% mgdﬁé

(A) TRD YO®TEF JOBWN®
(B) ey PeF-T0eP YOBBS
(C) To0d® w3TeIowT e.¥rmerhb3c

(D) 3R rfext-2a9s0w AR MHreYH) BRI

8.  Addition of impurity in the ratio of 1 : 108 to a pure intrinsic semiconductor
(A) decreases its conductivity nearly 100 times
(B) increases its conductivity nearly 10® times
(C) increases its conductivity nearly 100 times
(D) increases its resistivity nearly 100 times
1:10% Beoecor3ey HOTRgOLI0DT, WD YOLYYT® BFOBFO T Heddwori, Te
FENIYMEeY odoxd WO VoI ?
(A) 60(538)&9 100 @edore BBHOITOMHRPWD
(B) ToBdgaes 10° Zero Besyrb3ad
(©) 60(538)&9 100 @&3r0e0 éa&gﬁo§c3

(D) drerwx) 100 Fwvoeo a?a&grbgd
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9.  Consider the semiconductor devices.

1. Tunnel diode i. FET

iii. BIT iv. IMPATT diode

The correct sequence of their inherent operating frequency in the increasing order is
(A) i, iii, i, iv (B) iii, ii, 1, iv
(©) ii, i,iii, iv (D) 1, iv, iii, ii

Be BENT ITOBFO® YLBFTEONIFIY Moo

1. Tunnel diode i. FET

iii. BIT iv. IMPATT diode

ORI TDR e3DTeLDOoN® @g(‘gﬁ rewmeN, HOFTOD 8re3TY

BReBITIN, Be FLOIT ol e;eoig 0 ?
(A) i1, 1, 1, iv (B) i, i, 1, iv

©) 1, 1, 1, iv D) 1, 1v, 11, 1

10. In a MOSFET, the polarity of the inversion layer is same as that of the
(A) minority carriers in the drain
(B) majority carriers in the source
(C) majority carriers in the substrate

(D) charge on the gate electrode
MOSFET 8 9g8~° e30do° E&angﬁwoil), ge FENT wohrivy odeh@T b ?

(A) BeDgtes symedes S9s0000er
(B) SBeonsuyds ehesedey sadados
©) ﬁeaeéewedgdod 2023009 a—azgaoi)of,ﬁ

(D) rlees® aéa@)wﬁ eeaddd IFoesten’
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11.

12.

13.

The number of branches in a network is b, the number of nodes is n and number of
dependent loop is L. Then the number of independent current laws will be

‘b’ 0dn VPP 2390e3tY ﬁoﬁzgoimﬁdg, ‘N’ Seewsriy ﬁoﬁzgoimﬁcdg, ‘L
e300 mweﬁeaﬁcgg, géog F303¥ QDM ﬁoﬁzg

(A) n+L-1 (B) b-L

(©) b-n (D) n-1

Series combination of 2mH inductor and 1 K€ resistor is connected across a 5 V battery,
the steady state current will be

2mH aodgcﬁ‘ DI 1 KQ d@ecﬁédm& J0edadey 5V a:azgw@ﬁ BRBOTN, g&
éews F30636, f&@n’e}e} O30YT ?

(A) 5mA (B) 2.5uA
< O0A (D) 2.5mA

In a circuit containing a complex impedance, maximum power transfer takes place when
(A) load is equal to the complex impedance.
(B) load is pure resistance.
(C) load is conjugate complex of the circuit impedance.

(D) load is conjugate complex of the circuit resistance.
Joseror YOBBA® BROOT ﬁ&@zgswedg, Be FND @o&gﬁég odyowon eaéa?afg
mdmcﬁzgs BMoE BE303TMHIE ?

(A) Seer® Joderor HOBB/NOTI ﬁdomﬁcogﬁ
(B) e3oews aixazgoe d@ecﬁﬁmﬁagﬁ
©) ﬁmﬁswd FoOoTIeLF TOderde JOBBN® eSoer® e;eﬁcogﬁ

(D) ﬁmﬁswd To0ROIeEI® JBodews BRePTy) ek’ e;eﬁcogﬁ
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14. Laplace transform of e sin ot is

e sin ot B3 oazga);ame DOBIIEFA30

(A) (s-l-a% (s+a)2+w? B) s—a)?+a?
0 - ©
© sra2-o? ) (s —a)?— o’

15.  When two 2-port networks are connected in parallel, it is convenient to use
(A) transmission parameters
(B) open circuit impedance parameters
(C) short circuit admittance parameters

(D) inverse hybrid parameters
DVRB) DeeLre éwdﬁesﬁém& DRIV 03T DN BedITo Be IO @o&gﬁég

ojoad)ddo& I ToN 2BTRDOTD ?
(A) ERVSORV® HYgUOQILEIVT
(B) éoaiae—ﬁéaazgswe JOBB® DU IEEITS
(C) Doesfe 5&@95536 @@édaj g0 QIEI0T

(D) 9x°=08 H3r9ew® DT30S

16. As the poles of a network shift away from the axis, the response becomes
(A) constant (B) more oscillating

(C) less oscillating (D) not oscillating
BB T 937°008 B B3 I0B0I FFoHadw

(A)  RTZNTHZE (B) @od e33e3e3x° esrH 3
(O) TRD s33e8x° sHIB (D) e3e3ews® emdPHOY
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17.

18.

19.

2=

25 (+5) s

Given H(s) = S S
[1 + 1_0) (l + 10000)

H(w) | of value

the Bode plot has a region of constant |

28

H(s) = S S Be gedrer], FYNT adexd eafHodw edeerm Hyers,
[1 ¥ 1_0) (l ¥ 10000)
D2x°® e3p° Fomtedoer® | H(w) | 13 380350033 2
(A) 6dB (B) 20dB
(C) 0dB (D) 26dB
The Fourier transform of the exponential signal Pt hdl is
(A) aconstant (B) arectangular gate
(C) animpulse (D) a series of impulses

' DTIFPVIODET T Bredado® LRREHO0%,D)
(A) a—aaegowe (B) &30 Toz037 rIeed®

(©) xomes (D) Yome¥ri¥ T3

A minimum reactance function is one which has
(A) no zeros at origin
(B) no zeros on imaginary axis
(C) no poles on imaginary axis
(D) no poles at origin
g FE¥NIT oy adredhdd TR Gojoagaj POT® ?
(A) wdaR I aed@ﬁvgd%
(B) amﬁada 98T aed@ﬁvgdg

(C) 9DeeT0 337539 BRSO
) © > S

Space For Rough Work

8 Electronics



(D) wdertSy B rvy
20. When a source is delivering maximum power to the load, the efficiency of the circuit is
(A) depends on the circuit parameters
B) 50%
©) 75%
(D) 100%
Be0° Beerer Fex) HH0° BeB0° Brelwem, ﬁmﬁswsd FooDE FTDB03N

(A) ﬁ&@zgsésfd DYPTOEITT woee vxe0293woNHT

B) 50%
©) 75%
(D) 100%

21. In a centre taped full-wave rectifier, the peak inverse voltage across diodes is

(A) twice the minimum transformer voltage measured from mid-point to either end.
(B) twice the maximum transformer voltage measured from mid-point to either end.
(C) equal to the transformer voltage.
(D) cannot be predicted.

D030t E3eJEE® Poet-3ews 3gaohooNy, @es® JIBO® Q‘"@&)E;’eeae DTYT®

Ml y

(A) d)cdzg 290TDAR0T, BRI 290RIBBHT IS wgaﬁmdéos pgleess
DTB Bed) YOI,

(B) 2Ty 20@D03, Fe3ad W0RBINT wIBEHE° 95D Wpelesss
DTB Bed) YIS,

(C) eRREHT0° peedestrl BHDNTITI

Space For Rough Work
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22.

23.

(D) 3 owen b)Y

The current gain of the bipolar transistor drops at high frequency because of

(A)
(B)
©
(D)

junction capacitance
high current effects in the base
parasitic inductive element

the early effect

BeR) yBeQodby eBRO0° RQYTOSS T30 e sBHoIeren Foled

[N}

(A) @08° émﬁ&)waf,

(B)
©

eJe® =eeld éaﬁoﬁ F30L°S RPoI

w—azgoe&)wae aodgaﬁ eI o

(D) 8 9838

If the value of a resistor R; in an averaging amplifier circuit is equal to the value of input

resistor divided by the number of input voltages, then the output will be

(A)
(B)
©
(D)
DB3es®

the average of the individual input

the sum of individual input

the inverted sum of individual inputs
the inverted average of individual inputs

ao:c.ga)’éoi)oe ﬁ&@zgswed deers R, angu)zg@ QYOcREI® d@ecﬁédm&

QPoSTOEIE @a&)s;’eeae ﬁoaé;go&)od @a”éw" DR DI mﬁwﬁﬁ DB DOWM,

030 FerTe’
(A) 0BQB0DOF YRFDLFNY FTHOA3TNDITS
(B) 90892300 9af@0ernyd LS03w000303d
(C) 08B0 YRTREIY Yoo3LIc & Bp3woNDIN
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24.

25.

26.

(D) [oBDLODO® YRTHIY YRoILIe B BTTO0ITNDIT

A two stage amplifier with negative feedback

(A) can become unstable for larger values of .

(B) becomes unstable when the pole frequencies becomes complex.

(C) s always stable.

(D) becomes unstable at very high and very low frequencies, if A is very large.
ai)raaééa-’ c:pedaaazgae DR AVB) BOIT e;eo:c.ga%oi)oe

(A) égd B I @3ozworba mcﬁz@"

(B) @Beer egodn Toserr ool ©30Z@ords ToriS

(C) odreseriene §dweNthZu

(D) A o» w3BPTT, wIBYPS DY) WIBBD Feobey WSoFTrHIT

An op-amp differentiator with an input signal of period T, works properly when
SO0 Tod PP AT},e° BROOH op-amp BFTYodee3o® TOIIEN Foade
QB »b3eTF3

(A) T>RG, (B) T<RC,
©) f <f (D) T=RC,

In a differential amplifier, CMRR can be improved by using an increased

(A) Emitter resistance (B) Collector resistance

(C) Power supply voltage (D) Source resistance
BF3Qader @o@@’éoi)oedg CMRR do& U BRI, Te FYOI @o&gﬁég
0TI BR, BegveIesd ?

(A) DEEI0° BReRs (B) 66§o€ Beers

Space For Rough Work
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27.

28.

29.

(C) BBo® IPy Foete® (D) Fo0S doers

An amplifier with mid band gain of 500 has been given a negative feedback of value
B=1/100. If the upper cut-off frequency without feedback is 60 kHz, then with feedback it
becomes

200D e;eo:c.gﬁtpi)oed Doweregon® rien® 500 eNEy sEwedE Pewterss® f=1/100
SADLIF.  pewtgs® JRB  PSedady oPo® Fw-wx® 60 kHz ©@S,
$eE°2I0eE° R0 ©uh, e FENT adeBg Jeb ?

(A) 10kHz (B) 12kHz
(C) 300 kHz (D) 360 kHz

Astable multivibrators are used as
(A) Squaring circuit
(B) Comparator circuit
(C) Voltage to frequency converter
(D) Frequency to voltage converter
0370 BBy eAcee® ehegsdheiecstt MY evmodeeNTODY3 ?
(A) _edon® Tzugee e
(B) 60?508685306 ﬁmﬁsws
(@) @aegeeaea)od @ege(‘g 6?0:;59
D) & ege(‘go&)od @aegeeﬁ 6@&50‘%9

The frequency stability in an oscillator can be achieved by
(A) adjusting the phase shift
(B) controlling its gain
(C) incorporating a tuned circuit
(D) employing automatic biasing
e323e£30°39 %)egeég éaseswojodo& 0370 BOOW BROTATBITD ?
(A FPext éo.p—gs e Lodiwepiesbyiafeleln
(B) ﬁ:p@ soedgee® BeBPBO0R

©) €3990 ﬁﬁdazga‘we @s’d@&é@ﬁ{g@d@od

Space For Rough Work
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(D) @d@emﬁwaﬁ‘ a%oim&orwe @éd@&é@ﬁ{g@d@od
30. The cut-off frequency of a first-order low-pass filter for R; =2.5k€Q and C, = 0.05 pFis
R, =25 kQ &3 C; =0.05 uF B0003 &S50 830° ede Hod° HQUN Ter-
e9ep® @geégoiw
(A) 1.273kHz (B) 12.73 kHz
(C) 127.3kHz (D) 127.30 Hz

31. If Tl(x,y,z) =X (0,1,2,5,6), f(x,y,z) = (0,1,3,6) andTl(-D T,= f, then function T, 1S

T,(xy,2) =X (0,1,2,5,6), f(x,y,z) =7 (0,1,3,6) 3 T, ® T,=f esﬁcgd, Pog~® T, Be
FINT odread esafYrd Ded

(A) X(0,1,6) (B) X(0,1,2,3,5,6)

(©) X(0,1,4,6,7) D) X(2,3,4,5,7)

32. In the circuit shown in figure, the expression for T is

830 B50edIB ﬁmﬁswﬁ‘dg, T 3 BR0I e;eoig

A ' T1(A,B,C,D) = ¥m(0,1,4,6,9,12,13)
B —» T

C —

D T>(A,B,C,.D) =¥m(2,6,9,11,12,15)

(A) %2(0,1,2,4,6,9,11,12,13,15)
B) 2(6,9,12)
(©) X(0,2,6,12,13)

Space For Rough Work
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33.

34.

(D) %2(0,1,2,4,11,13,15)

The output expression for the circuit given in the figure.
BITY BedINT  IJuuggr s Brder JFZeRITR  adesd esad) O

RO 2
s A
B D Z‘ —1
C
D

(A) y=A+B+CD (B) y=ABC + ABD
(C) y=AB+C+D (D) y=AB+CD

For the device shown in the figure, let all D inputs be LOW, both S inputs be HIGH, and

the EN input be LOW. The status of the Y output is
Dp —
D 1
Dy |
Dy

Sy |
51

EN —f

(A) low (B) high
(C) Don’t care (D) Cannot be determined
B30 3eddT @a”émedg, 28 D ga%=0efrish LOW @ﬁdg, S gL VD

HIGH esHiid) 308y EN ga°aber® LOW esweri, #e°e0e® Y 0m0N0IS ?

Dy —]
D4
Dy — |
Dy |

Sg —
Sl

EN —f

Space For Rough Work
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35.

36.

37.

(A) TBD (B) e

(C) W@Boer*derTs (D) @wosﬁoéae BI0BEIAM LR DL
The output frequency for a frequency division circuit that contains 13 flip-flops with an
input clock frequency of 40.96 MHz is
40.96 MHz 333° 3°m0e® RZY BROJDB 13 JD°-F@erigegrieon
RLER) BI2R® TURE eI BT LR

(A) 3.1507 MHz (B) 5kHz

(C) 10kHz (D) 10 MHz

A Darlington emitter follower circuit is sometimes used in the output stage of a TTL gate
in order to

(A) Increase the low-level output current
(B) Reduce the high-level output current
(C) Increase the speed of operation
(D) Reduce the power dissipation
TTL leedx’d ReFaoed® éeadg o) 2500 mgogae DEREI0° Poedpemo®

VBO3PENTEN FoTRIeI0RT,
(A) BRD SBerS Berader® TSP BPTe
(B) S S Leraber® 30 TR Dorden
(C) esmBezdx® Qews® égﬁw
(D) BBo® BRBIST IR @rerEen

Which of the following are functionally complete ?
(1) NAND (i) NOR  (iii)) XOR (iv) XNOR

(A) only (1) (B) only (i1)

(C) only (i) and (ii) (D) only (iii) and (iv)
e FEOIYNEY odro)ad goimééémﬁ DODNRPLE DNT ?

() NAND (i) NOR  (iii) XOR (iv) XNOR

Space For Rough Work
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(A) (i) @903 (B) (i) =003
© () SRy (ii) &e3 (D) (i) S (iv) B3

38. The discharge transistor in the 555 timer circuit is used to
(A) charge the external capacitor to stop the timing
(B) charge the external capacitor to start the timing over again
(C) discharge the external capacitor to stop the timing
(D) discharge the external capacitor to start the timing over again
555 e35e00° TBEE DY BT LPYNTR evmodeend sugled

(A) DTV TP FHOIEIV® os®e B0l aé’éeboorﬁ@l TY° @oo@en

(B) 0BT Fwode30° oife @rol ehAoNE Y TIZ T0T @remen
(O) HTLIOTO® FHodEIV® @wgzﬁg R0 & aé’éeboorﬁ@l TYE° @oo@en
(D) 0TE30°V® FwoIEIV° WA e ol eZDonN'R), &I TYoT @remen

39. A bidirectional 4-bit shift register has been loaded with the nibble 1110. Its RIGHT/LEFT
input is LOW. The nibble 0111 is waiting to load on the serial data-input line. After two
clock pulses, the shift register will storing

2,000 2393(3’93663@“9 LISV 29£°3 éw" 6&30653 Qg e® 1110 Q0B el3nes®

@008eeN 3. @33 RIGHT/LEFT ga*@ber® low eHd. de° 0111 ddoder woede
QYOTEI® 693&6, e3ews® esrien a—aoingcfg DTR BYS® TP ed e éw;
6&@0659 Ri@eoe esrod Qg e®

(A) 1110 (B) 0111

(©) 1000 (D) 1001

40. A PLA can be used
(A) as a microprocessor (B) as a dynamic memory

(C) torealize sequential logic (D) to realize a combinational logic
PLA ojod)q1 Be FYOD 0ol esoigoi)g eV 03eeNTDTIT ?

(A) SyBeempITos b
(B) @oo03® ehadedodien

Space For Rough Work
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©) &)ge(‘j\u)oi)oe 30235 N,EAD
(D) %o023ReBR° I02E® NAAED

41. In an 8085 based system, the maximum number of input output devices that can be
connected using I/O mapped, 1/0 method is

8085 epe3ad dP:eIY 1/0 dngwe I/0 e’ svmodeedd TITS SBDTIWOR
©dewmes) Input-Output Bere ©oalg

(A) 64 (B) 512
(©) 256 (D) 65536

42. The contents of registers A and B after execution of following instructions are

e FIEVOI PO JTO IER, ag&ngwe Fedwmeri A DY) B Jesgonivy
LoV In) ()

XRA A

MVI B, 4AH

SUI 4FH

ANA B

HLT

(A) 05, 4A (B) 4F, 00
(C) BI,4A (D) 00, 4A

43. Let contents of accumulator and register B be 00000100 and 01000000 respectively. After
execution of SUB B instruction, accumulator contents is

B0 Se0® DR ‘W-0FPoS [Jgg FabeveNH 00000100 By 01000000 BT,
SUB B aﬁ%&;’ms@ ag&)ﬁws a3 eed @a)ﬁdwdewoedg RROJYT

Space For Rough Work
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(A) 00000100 (B) 01000000
(C) 11000100 (D) 010001000

44. Which of the following is not true about 8086 microprocessor ?

(A) Physical address of the memory is generated by bus interface unit.

(B) Instruction queue is used to store data to be processed by next instruction.
(C) It contains only 4 segment registers.

(D) It supports multiplication and division operation.

8086 eBpBRedT0° 213 WWINYY adehtd dw@NDHPHDY ?
(A) %% 030°FHeT® 0RILIPNORB DTS VTWT® BH° 0PHD BI3ecTrPITI

(B) 73, 90°PTE°00W BRI wrbaml @oeeH), [P BRIy Jod
B00BIHITI

C) 3B BT Toey Bed0e® DeFO® BROOT

(D) 9 a0 DI PoriEes TIONENYRY BToTeD BFHoOD BIoWBS

45. BHE of 8086 microprocessor signal is used to interface the
(A) Even memory bank
(B) Odd memory bank
(© 10
(D) DMA
8086 SyBReRpIRO’ ANSS BHE W= <, PoesveFeTerieyTen
DETTMNIT.
(A) Bexldn® H3ed 2J9g0%°

(B) wm® HAweed 2J9g0%°
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(C) 10
(D) DMA

46. Match the following :
List I
Mode 2
Mode 5
Mode 4
Mode 0
a b
(A) i 1ii
B) i1 1
(C) i1t 1v
D) i iii
BPROOD 03000
e.aasg—l
WP 2
RPwE 5
R 4
Rewc 0

a b
(A) i iii
B) i il
(C) iii v
D) ii iii

/o oP

/e o oo

il.

1ii.
1v.

Coe e e

Coe e e

1v

List IT

Software triggered strobe

Interrupt on terminal count

Rate generator

Hardware triggered strobe

d

v

v

ii

i

ess-11

i Toxmsdeon ooy Agear
ii. PPV S L3ETOT FO0EL®
iii. JBeer® 338ee30°
iv.  oogelec® gricy Jgea®

d

v

v

ii

i

47. Which of the register(s) need to be programmed to initialize 8251 ?
(A) Only Mode register
(B) Only command register
(C) Both Mode register and command register
(D) Mode register, command register and status register
8251 &, YId0oD Syt Sreren oo JeePoeridah, Brerese Sorelesd ?

(A) Bem® dJ0° FIoZ
(B) 30w’ desgpod @ieg

Electronics

Space For Rough Work

19



(C) HBpw® DI 5:00E° 0esFYO® HTBRY,
(D) W @237?’566, TXI00T® Oagoﬁ‘ EANICY ée&sxﬁ Oagoﬁ‘

48. In mode 2, if N is loaded as the count value, then after (N-1) cycles, the output becomes
low for
(A) 1 clock cycle

(B) N clock cycles
(C) N/2 clock cycles
(D) (N-1)/2 clock cycles
S 2 3y, omded N &, (N-1) Gpornwed oo FO0e® @oges &N

Seer® SBredwor, Ferader sRhaderbeE Jretrivd
(A) 20T BE® ﬁéﬁeﬁ
(B) N zgz°® B8e°
(C) N/2 zg&° Bzt

(D) (N-1)/2 Bg3%° ﬁéée)ﬁ‘

49. The pin of port 3 has an alternative function as write control signal for external data

memory is

3e°  Toedpee® ALY 8N HTWORL® oo HRROT FOIT @

@%oﬁ‘éewaﬁ‘ ?p‘ogae, Bee3’e 3 ad odroxm an‘i)&ﬁd ?

(A) P38 (B) P3.3
(© P36 (D) P3.1

50. Which of the following is bit-addressable register ?
JPYIEY 0l 296° @I Gagoﬁ‘ e3OHDLIT ?
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(A) SBUF (B) PCON
(C) TMOD (D) SCON

51. The output of this C code is
e FBNT C Boer®s Pefaer HDNDIT ?

#include <stdio.h>
void main()
{
inti=0;
while (i< 10)
{
++;
printf("KEA\n");
while (i< 8)
{
++;
printf("CET\n");
}

}
(A) KEA is printed 8 times, CET 7 times

KEA odn 8 2308, CET odn 7 2308 &oe® esrh3ad

(B) KEA is printed 8 times, CET 7 times and then KEA 2 times
KEA od» 8 2308, CET odn 7 2308 &3 KEA &) 2 2300 &oe® esrh3ad

(C) KEA is printed once, CET 7 times
KEA odn 1 258, CET odn 7 2308 &oe® esrh3ad

(D) KEA is printed once, CET 7 times and then KEA 2 times
KEA od» 1 238, CET odn 7 2308 &3 KEA &) 2 2300 ot esrh3ad

52. Which datatype is most suitable for storing a number 65000 in C programming language ?

Space For Rough Work
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C Bgermoon® wegontfsles®®ey 65000 Sonv® Jpeo® Dvewen odjesm wecdo
e55° TOBRODIH ?

(A) signed short (B) int
(C) unsigned int (D) long
53. Relational operators cannot be used on

(A) structure (B) long
(C) strings (D) float

B33BTF wBBetIT?, W), D svBadeeNTSITD ?
(A) ggoe (B) eyoor®
©) gorﬂg (D) Hgees®

54. Which of the following is not a valid C variable name ?
e FEOIPYN¥EY odro)cd C obd e390e9T° K00dner BB $NHDVPOY ?

(A) int number_5; (B) float _rate;
(C) int vAriable_count; (D) int $main;

55.  Which function definition will run correctly ?
Be FEOI oo ﬁogae BHITD® B0 T® erH3T3 ?
(A) int sum(int a, int b)
return (a + b);
(B) int sum(int a, int b)
{return (a + b);}
(C) int sum(a, b)
return (a + b);
(D) Both (A) and (B)

56. Functions can return structure in C.
(A) True (B) False
(C) Depends on the compiler (D) Depends on the standard
ﬁog’a‘ir‘fﬁb C dg ggosd)a oBTLATII0Re ?
(A) =0
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57.

58.

59.

B) 3=
(©) 60?393&)06 20ee3 90293
(D) K)&godw@s @eed 9xZer093

The output of this C code is
e FBOT C Beer®s Refader O ?

#include <stdio.h>
struct student
{
int no;
char name[20];

}

void main()
{
struct student s;
s.no = §;
printf("student=%d",s.no);
}
(A) 8 (B) student
(C) student =8 (D) Compile time error

An array of similar data types which themselves are collection of dissimilar data type are
(A) Linked Lists (B) Trees
(C) Array of Structure (D) Class
oale DF, 0ed80odeNE3 Bewetkmtrid Tog@deanivoNHa 2.0te dedod wetdo
ﬁéwﬁ‘ﬁé esgeadn,

(A) esoa; 958 (B) wex®

gA €

(C) &g e goe (D) B&°

Which of the following is not a pointer declaration ?
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60.

61.

62.

63.

e FENTYMEY 0dI0x)iD Ho0D 03T BTTeRD® 9g) ?
(A) char a[10]; (B) chara[]={‘1", ‘2’, ‘3, ‘4’};
(C) char *str; (D) char a;
The data type of the result of the following operation will be :
(float)a * (int)b / (long)c * (double)d
(A) int (B) long
(C) float (D) double
Be FBOT sBTeRmn® PeFTe® Beedo efe° 0P ?
(float)a * (int)b / (long)c * (double)d
(A) Qos (B) eoon®

O PBpee® (D) @e®

Transverse electric wave travelling in z- direction satisfies the following condition.
z—(é’édg’as CSIAL LSV ACE W o aégae Pex® Te FIENI aoxld TORRN®
a“‘md’é"’m§c3 ?

(A) Ez=0;Hz=0 (B) Ez=0;Hz#0

(C) Ez#0;Hz=0 (D) Ez#0;Hz#0

Consider a transmission line of characteristic impedance 50 Q. If the line is terminated at
one end by +j 50 €, the VSWR produced in the transmission line will be

LR S FYlEORE® FoBBRS 50 Q eNT). ©B3 &o® oW AT
+j 50 Q B0B eV S8BT, &8 LPVRV® o TY BRYRYT® b VSWR
DR 8OHDIT ?

(A) +1 (B) zero

©) e D) -1

Pointing vector gives the
(A) rate of energy flow (B) direction of polarization
(C) intensity of electric field (D) intensity of magnetic field
TOODOLION® WF0° Te FENTIMYY DI, BT ?
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64.

65.

66.

(A) oJeee ®O3VD B3 (B) BrodPenn’s O

(©) adgaﬁ c:peo;d g0e3Qe (D) mﬁﬁ&waﬁ‘ c:peo;d R0EIQEs
The multicavity klystron

(A) Isnot a good low-level amplifier because of noise

(B) Has a high repeller voltage to ensure a rapid transmit time

(C) Is not suitable for pulsed operation

(D) Needs a long transit time through the buncher cavity to ensure current
modulation

d)%a—azgebw §,émga€ aarr'v; e FENIYNEy adohad <O ?
(A) T JoodER0woN eogoi) TR BOIT e;eo:c.ga%oi)oe e3P Y.
(B) OoeRT® £I9RS QIERP aé’édf BROTIEN égd dBQo® @aegeeae BRODT.
O 9B TYE® esBTeRDT3 eogojodg
(D) 00w SremySemn® esrien W0230° FogDeaoddey Beerien B0ew
e39Qex° e33e° ded

Which of the following microwave tube has a helix ?

(A) Kilystron (B) Magnetron
(C) Multicavity klystron (D) BWO
Be B¥NTR)ridy odresd sdyBmesies® £3,9020° BOTS WY BRODT ?
A 3 39° (B) méﬁ&wpﬂe
©) d)%a—azgebw 3 39° (D) BWO

In the given figure the time taken by the wave to make one round trip is
BIZTY BeeddDTOZ 20w DB) BT [’ SNEINHRE TFehob)
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Transmission line

2000 . ~.\= .
Z, =100 Q
90 v = 250
v=2%10% m/s
f— 4m —H
(A) 10ns (B) 20ns
(©) 30ns (D) 40ns

67. Two entities that are combined to form a Magic Tee are
(A) One H and two E plane tees
(B) One H and one E plane tee
(C) Two H and two plane tees

(D) Two H and one E plane tee
doazgaae £9€ BJ0BeN HeDTV3eFT0W DTW) ADTLILITIED

(A) 20w H &3y o0 E Fex® earisd
(B) 20t H &3y 2,0t E gew®
(C) 0@ H &3y o0@ Pex® earisd

(D) 3w H &3 2,060 E ger® €9

68. Which antenna is a properly terminated ?
(A) Marconi (B) Rhombic
(C) Dipole (D) Yagi-Uda
e FEOIPYNEY odrod e;eoaé’m& 000N L3EFeI’ esNHTS ?

(A) Dodeced (B) ©o02%®

©) c%a’weoe (D) odehH-evwo

69. In a klystron amplifier, velocity modulation of the electron beam is produced by the

Space For Rough Work

26 Electronics



(A) Collector (B) Catcher cavity
(C) Cathode (D) Buncher cavity
Z09° @o@@’éoi)osdg ada‘ga‘i 29z e3eeT0 eI mmﬁéeaﬁas e FEONI

0370R)BOORB BRBWRT® I ?

(A) 66§o€ (B) 6—058306 T
©) a—ozgcfuaewe (D) ao0e30® TOUDE
70. Which is a non-resonant antenna ?

(A) Rhombic antenna (B) Folded dipole
(C) End-fire array (D) Yagi-Uda antenna

Be FENT 0370 Mo —DIBRIJ0® e;eoaé’m& s ?
(A) To0TE @oéﬁ@ (B) a’wee;@@ dyBoeer®
(C) oowe ?59306 o) (D) odrehH-evwe 93053&3&

71. A FM signal with modulation index Mf is passed through a frequency doubler. The wave
in the output of the doubler will have modulation index of
M, @ro@demn® 0BT, BROOEW AT{e® Heg BROTY o HeewT, ©
BPO°N LT BoBSeRI® JOBEE HT|YNDIT ?

A) M, (B) M,/2
© 2M; (D) UM,

72. Consider the following statements.
1. The amplitude of a FM wave is constant.
2. FM is more immune to noise than AM.
3. FM broadcasts operate in upper VHF and UHF frequency ranges.
4. FM transmitting and receiving equipments are simpler as compared to AM
transmitting and receiving equipments.
Which of the above are correct ?
(A 1,2,3,4 B) 1,2,3
) 2,3,4 (D) 1,3,4
Be FEOS méﬁﬁ%}*d{q Gilel @y
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73.

74.

FM 8623 e0Qe95° Fo5F0e° NI
AM HoZ FM ee3 doads® a?ai)a’ DPoR 0eVYOY.

M &bgdf ©zo® VHF &3y UHF 5{))&;& 3e0ez* e FOT ©BIBBE.
FM 39080800 2H@3) BedHon® evmETeorish, AM evmsdrenyHos
QdoTe® 30 T.

JPYIEY adiex)d TN ?
(A 1,2,3,4 B) 1,2,3
©) 2,3,4 D) 1,3,4
If transmission bandwidth is doubled in FM, SNR is
(A) doubled (B) raised four times
(C) decreased four times (D) halved

2,08 et FM e8Q0@R® 2J950T° D@ Be® &70BB3 SNR Herb3Iss ?

Ll e

(A) @eer

1

(B) ooy e 3c3

€3

(C) Doy Bed) FBH0TrHITI
(D) OPeBR? mgcs

CH

o
1
&

Shannon's Law relates
(A) antenna gain to frequency
(B) noise power to bandwidth
(C) information-carrying capacity to S/N ratio
(D) transmission losses to noise
T3 B Qo) 0o BBeR® HetHIA ?
(A) 030, rieads, e $3Q
(B) ~oodyS ®eI0° B gg0wEHES
(C) @RS BROWH FomodEs 3 A{e® &HIBY Doad’ DI

(D) £RVARV® 0TI €3 Fo03®
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75.

76.

77.

78.

In the absence of noise, if C is channel capacity in bits/s, 6f is channel bandwidth in Hz
and N is number of coding levels. Then

D003’ 3ROPS, e Codn e5oRer® sgmode DEFNYE ey, df ok HZ 3§
23%3@36 2J900TB° DTS @ﬁdg, N Fpedorns 33 ﬁoﬁzgoimﬁcgd, e FEOIYNIYY
o3 0 ?

(A) C=log,N (B) C=(3f) log, N

(C) C=2(f)log, N (D) C=0.5(of) log, N

If the maximum value of a PCM signal is 31 and the minimum value is =31, how many
bits were used for coding ?

PCM ANO'S ey @HF 3R wggenritd geb@enH 31 =H3y -31 ewer
BRBOMETIIN DT 2963 BeForbIcs ?

A 4 B) 5
<G 6 D) 7

In digital communications, the signal to noise ratio in dB, which would be required for an
ideal channel with a bandwidth of 2500 Hz is

Besese® FRUYRTeR R 2500 Hz 239500°DWE BR0dE DB0HEE  e5os3erer
eJezorhal Mo @I Doade Beeed

(A) 5 (B) 9.54

(©) 4.77 (D) 34

A cordless telephone using separate frequencies for transmission in base and portable
units is known as

(A) Duplex arrangement
(B) Half duplex arrangement
(C) either Duplex arrangement or Half duplex arrangement

(D) both Duplex arrangement & Half duplex arrangement
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79.

80.

81.

Forte 37° edovieenc, &Jex® HY) Beeddrer 0lelderrdy E5RTINEI TN
e3ed e3ed 3R evTBA3ReNIBS BB, HB0E FBXVTYY ?

(A) Boghss eadoeiéowe

(B) Tox® BRHES eadoeiéowe

(C) Bogds® eadoeiéowe PO TOP® BRHTS eadoeiéowe

(D) BegBss eadoeiéowe D) Top® BRHT® eadoeiéows DOBR

In a broadcast super heterodyne receiver
(A) the local oscillator operates below the signal frequency.
(B) local oscillator frequency is normally double the IF.
(C) RF amplifier normally works at kHz above the carrier frequency.
(D) mixer input must be tuned to the signal frequency.

TPDBOS £é3&acé’éa€ QBT 0IBO° T3 FENIPYMYy adehcd IO ?

(A) Brese® oddewt® e edJNod BB pedJob, eBTew®
A pIeNICIng

(B) leezer e3de3etivf geg IF NoB TG mon Bder sNDTE.

(C) RF &0283000° 39500h0° ¢e8QN03 kHz 3PS $egQodey mommwSEson
FooNE QT HLIIT.

(D) T Yot ), IO §eBA wug® wrerelesn.

To establish a very reliable service between two points on earth separated by 1000 km.,
the band that will be used is
gedad eel 1000km 903THBYDE HT@ 20c0NY dDCé;g DOVODE TDE TS

OBVERTE 3eForh eaazgowe
(A) HF (B) EHF
(©) UHF (D) VLF

The two-transistor model of a thyristor consists of
(A) Two n-p-n transistors connected back-to-back
(B) Two p-n-p transistors connected back-to-back
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82.

83.

84.

(C) One n-p-n and one p-n-p transistors connected back-to-back
(D) On n-p-n transistor connected in parallel with a p-n-junction diode
DTB £19QTO® SoBO® BROOTW §30T0® Be FENT 0TS, BROODIT ?

(A) e39e5° € 09eE° FVTT @eBW 2 npn LYY FO®
(B) e39g5° e 20955° VT, @R 2 pnp LRYTOC
(C) er9g5° e 209e5° FITT @eBR 1 npn £9QYPO° @I 1 pnp €BQYTO°
€3 ~ v e3 - ~ v e3
(D) 20w npn ERJJO ! JIDD0BTWeN IIFE @[eBB pn 2OTA®
dyodeen®
If V..o V4o V,. indicate the root-mean square voltage, dc voltage and ac voltage, the

form factor is defined as

rms’ S eo® @3%29356, (1) @3%38856

20 wed V Vi V.o B8D@oH deer-dves® 3
53
?

DB D d;ageeae 333, 0%, anggoe SRplgvtcing
(A) Vrms/ Vdc (B) VdC/ VrmS

(C) Vac / Vdc (D) Vdc/ Vac

As the frequency of operation in the multiphase rectifiers is increased, the size of the filter
(A) Increases (B) Decreases
(C) Remains same (D) Doubled
d)%?jeme 613?59301)065 @eg(‘g 8p®  esBTeR™® a?a&gdoé, c‘b%oﬁ‘d o3
QHIE ?
(A) éa&gﬁo§c3 (B) BB aderhI3d

(C) rgesdBaliorba)dL (D) %ﬁosar’x@s*gd)d)

The R-triggering circuit is also called as

(A) Amplitude triggering circuit (B) Phase triggering circuit
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(C) Pulse triggering circuit (D) Frequency triggering circuit
R-9miB0M® 05pE41PS 90w BID

(A) @0ReameE® Wridon® Twee e

(B) em® gridor® ﬁ&@sﬁws
(€©) =S yridon® TBEe®
(D) $egQ wridon® Tweege®

85. In a switching regulator, with the increase in the switching frequency, the transistor
switching loss

(A) Increases
(B) Decrease
(C) No change in the switching loss
(D) Undetermined
§a3or® Srimge3ec3v®tey JeBor® e BPEo3, YT JPor® UoT°
(A) Besgrb3d
(B) BB aderhI3d

(C) 23on evnfad) aBveREBalRBOY

g

(D) eed D[oBTrbR)DL

86. The commutation circuit is used in the controlled rectifiers to
(A) Turn-on the thyristors
(B) Turn-off the thyristors

(C) To increase the frequency of operation of the controlled rectifiers
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(D) To convert ac signal into dc signal

605&@8@2 613?39301)0669 ev@o3eeNTSI 6&1@8&38?&&6 ﬁﬁwa‘ﬁwﬁ‘d evBo3een
(A) déagoe e30° SJOBEN
(B) déagoe 9% WJoBeN

(C) sotdgee® Bga30D0°F $edQ $F TSR BggTen

87. The main reason for the connecting of a pulse transformer at the output stage of the

thyristor triggering circuit is to
(A) Amplify the power of the triggering pulse
(B) Provide electrical isolation
(C) Reduce the turn on time of thyristor
(D) Avoid spurious triggering of the thyristor due to noise

oes wgajmdéoedo& déf)goe lglelelay 5&@985365 P  BOIWY

guBaSeeNTE uiied
(A) ©ridon® @WeER BBO® BggTen
(B) aégﬁeﬁ DleleRD® LBOHTEN
(C) 3% es® 5393&6 e3p° cé’éagoe TR [Jowen

(D) 003000 TRdODLT® 9rdon® esgp® déagoe O eﬂmojsg @JomBeN

88. Fluorescence occurs within

Ppedeeds Je erH 3.
(A) 107, (B) 107 ms.
(C) 107 ps (D) 107 ns.
Space For Rough Work

Electronics 33



89.

90.

91.

Calculate the optical power at 100 km from a 0.5 mW source on a single-mode fiber that
has 0.10 dB per km loss.

dorer*deesss @’éaaoed o® 0.10 dB/km e@d3 0.5 mW Feecsdos
100 km @eTg O 8HTO® DH0° GoIT° DJ|YTLIA ?

(A) 50 nw (B) 500 nw
©) Spw (D) 50 uw
The important consideration to decide between using a laser diode or an LED is
(A) Response time (B) Power levels
(C) Temperature sensitivity (D) Failure characteristics

e3e008 cé’éoixaewe DB K0FYR JP)IFY 0P w¥TIeFoD APE ORI
YOI ewodhadbe adred)Bh, HebdTedesd ?

(A) Cogae ehabe (B) SJS0° e3e3ex®

(O) elozTeesv® BQeades (D) a—ozgdga?:)ae ?5&).@806

The repeatability of an instrument is defined as
(A) The measure of the deviation of the test results from the mean value.

(B) The measure of the range of the measured variable for which an instrument is
designed to measure linearly.

(C) The measure of the closeness with which individual measurements are
distributed about their mean value.

(D) The measure of the closeness with which the reading approaches an accepted

true value.
Y3 QD 0ES G&Eaaseewoi)d)& oe Ded @@’éae DIOBADOTD

(A) &oexs mﬁmﬁ&od 307 OIS BJoDeRD WwEI H[ed

(B) ©eQodo® hH 0¥l DeBden BB FdE  JoSwERhowrR), ©¥3d
BeBYBB BedadHders Seowd), W¥3 Breren

(C) &exs ango_rozgﬁ ®&TC&oN @?‘gmﬁw‘i lale VI FoBD2RO0Ie®
RO 0L’ éﬁ@eﬁame DB JIoweN
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92.

93.

9.

(D) o3x DolB d2wm Dogeugmm® De®dor® wXmessts Jgedw® SHao®

Jom@eN

Seebeck coefficient is related to

(A) Thermocouples (B) Thermistors
(C) LVDT (D) Strainguage
2eedE® BREDDACI 0L Be FTBOD oim@dé’ De3eedws esOHTW ?
(A) Pleresmer (B) cﬁ&os@cﬁo
(C) LVDT (D) géaeﬁeeae

The power factor is the measure of

(A) the cosine of the phase angle between voltage and current.
(B) the cosine of the angle between the ac and dc currents.
(C) the sine of the phase angle between voltage and current.

(D) the sine of the angle between the ac and dc currents.

DB0® PogBO° Te FENIPMY w¥3aeNDIV

(A) d;aegeeae DB T30S d)cszgd &aeﬁéa"‘ e9 s

eI

(B) @.0. ) B.0. FE0* docdzgd &aeﬁéa"‘ e9% esories

©) d;aegeeae DB FF0°S d)cszgd ﬁéaﬁ‘ esorier®

(D) @.0. DR B.Q. B0 docdzgd ﬁéaﬁ‘ esorier®

One of the following bridge is used to measure the mutual inductance.

(A) Scheing’s bridge
(B) Heaviside-Campbell’s bridge
(C) Wein Bridge

esoriers
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(D) De Saulty’s bridge
RERINTE o303 Pyie? &, Bagedadber OB, ©E3 Serden suBadeeNRTYS ?

(A) geowory ag
(B) BeQwe-sog0xker s
(C) Heocnns e9Te

(D) &e Toeves® e
€3 ~

Match the following :
List I List IT
a. Blood flow 1. Resistance change
b. Humidity ii.  Capacitance change
c. Light radiation iii.  Frequency shift
d. Liquid level iv.  Current
a b c d

(A) i il i v

B) ii i i v

(C) iii i v il

D) 1 m iv 1

FEOTIYNER), Beodd 22300:

Jea-1 Tea-II
€3 €3

a. R PR L BN B
b. mﬁm@w ii. a—azga)—a&)aé’ag DBTOJES
c. e Se®dodemrn® il  ped 3FS
d o3 S83° iv. B30eF

a b c d
(A) i i i iv
B) i i i iv
(©) il i iv il
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96. The medical sonography employs

(A) Hall effect (B) Raman effect
(C) Doppler effect (D) Kelvin effect

RTO® Jeednened FEOI oim@ddo& DOTYOW &IWIE ?
(A) >oes® c.o?p’a:; (B) Toxdha® c.o?p’a:;
(C) wogo® c.oaé’a:; (D) é%as c.o?p’a:;

97. Phase margin of a system is used to specify the

(A) Frequency response (B) Absolute stability
(C) Relative stability (D) Time response

PeT® Boese @do& Be YOI oim@dd)& VBBTEN VYIS ?
(A) @eg(‘g Bogas (B)  esenREr® T 5298969
(C) 0Be3ecan® QSO (D) 5393@06 Bogas

98. A system has the characteristic equation q(s) = s> + 4Ks? + (5 + K)s + 10 = 0. The range
of K for a stable system is
(A) K>0.46 (B) 0<K<0.46
(C©) K<046 (D) Unstable for all K
ATRPR TOTORT® Bege@m™, q(s) = 7+ 4Ks? + (5 + K)s + 10 = 0. 4Zad® Peaver®
e0Ben K & Beoes® HoH33esd ?

(A) K>0.46 B) 0<K<0.46
(C) K<046 (D) @aeéeeooe Po0® eser® K

2

99. A LTI system has an impulse response®” 0T t > 0. &3t for ¢ > 0. If initial conditions are
zero and the input is e, the output for t > 0 is
LTI Za°S gome Sogas e for t > 0, DI [I3odhet FodR™® ‘ede’

0, FTe® et esAZ3, t>0 eswert VePaes® Tlgbtcink
gt 4 g7E _ g3t eSt 4 g2t _ o3t (B) _ 2ty e 3t
(C) e2t _ e3t (D) e3t _ e2t
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100. When derivative action is included in a proportional controller, the proportional band :

(A) Increases (B) Reduces

(C) Remains unchanged. (D) Initially increase and then reduces
S9Eeed e’ FodReT Ny BTIenn® TR JI°TRRE® o, TpBeedTer
eaazgowe

(A) Besgrb3a. (B) BB aderhI3d

(O) rBgesBaliorbu)BdL (D) HBeden FesghH SoI3 FRAHIT.
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